KFITBREANLBERHEER TR

ek H FRk304E9H3H

BREX T 44 ) = gt BREX W] 4 ) = gt
%1 |ELUAT 136 168 304 %6 |¥RAET 1 0 1
f5s R ET 197 213 410 b2 F BT 432 429 861
EHET1TH 125 135 260 B AHET 384 428 812
B ET2TH 150 165 315 ZRHET 31 40 71
ARG FOET 191 241 432 15 HT 41 55 96
BEXE3TH 231 246 477 RILHET 55 54 109
HE1TH 81 90 171 KT HT 46 56 102
7NETE 1,111 1,258 2,369 REHT 288 325 613
%2 [BFEISTH 181 153 334 k=il 31 31 62
3 ET4TH 222 242 464 TREET 1T H 40 44 84
=L RHET 163 195 358 TRERT2 T H 313 340 653
ST HRE1TH 61 81 142 BR R BT 41 37 78
H/HEI1TH 149 186 335 fREET1TH 158 178 336
ik 22 21 43 fREET2TH 191 229 420
HtER1TH 144 178 322 fRBEISTH 105 129 234
HiEFE2TH 152 188 340 /B 2,157  2,375] 4,532
H{ERE3TH 99 149 248 57 [KE 62 80 142
HiER4TH 72 97 169 ARET4ATH 131 161 292
KIE3TH 52 43 95 SET3TH 81 90 171
/INEE 1,317 1,533] 2,850 SETATH 68 66 134
B3 |EXREI2TH 150 135 285 HETSTH 156 133 289
$RET1TH 116 156 272 1EEHT 146 147 293
$RET2TH 239 285 524 =XMW1 TH 178 213 391
$RBISTH 394 458 852 =ARW2TH 248 279 527
ARAT1ITH 144 150 294 =XM3TH 207 277 484
AERT2TH 38 42 80 =XW4TH 158 171 329
EHHET 46 45 91 =y 49 50 99
ARERT3T H 99 118 217 =AM 126 133 259
ESHE] 76 94 170 L#&#E2TH 12 10 22
/et 1,302 1,483 2,785 ErB1TH 19 19 38
%4 |[FEI2TH 86 103 189 XE1TH 394 500 894
#tET1TH 79 100 179 XKE2TH 112 160 272
/e A i ET 50 52 102 KIE3TH 148 163 311
it EE BT 83 110 193 /Nt 2,295  2,652] 4,947
A SFET 64 78 142 B8 [X#ET1TH 46 40 86
EXE1TH 43 65 108 XHHET2TH 30 26 56
EXRI2TH 102 112 214 75 BT 80 105 185
B RE 87 87 174 ZFHET 39 48 87
H E7HT 32 53 85 SIET1TH 42 66 108
BHET 264] 348 612 SIE2TH 39 57 96
HEGH 25 23 48 EEH 63 80 143
FEE ST 68 68 136 A BT 153 128 281
ch BT 75 94 169 EHET1TH 47 67 114
MEE1TH 115 166 281 A2 TH 145 199 344
IEET2T B 31 35 66 /bR 684 816] 1,500
A KHET 42 72 114
/T 1,246 1,566 2,812
%5 |FZHEET 215 251 466
FEROET 436 472 908
BEXHE4TH 218] 259 477
/INEE 869 982 1,851
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%9 |hE1TH 209] 264 473 %13 [EfEEITH 30 36 66
T E2TH 249 299 548 H{EE4TH 132 147 279
BHE1TH 4 3 7 HiEES5TH 225 240 465
HE2TH 223 293 516 FAER1TH 86 100 186
HESTH 185 197 382 FA{EE2TH 94 121 215
HE4TH 195 230 425 F{ERE3TH 229 253 482
HES5TH 182 210 392 Fa{ER4TH 278 323 601
HE6TH 95 109 204 FA{EES5T B 293 304 597
BHE7TH 93 71 164 XKEATH 209 253 462
55 73 81 154 XKES5TH 97 114 211
HEMEI1TH 124 136 260 XE6TH 257 307 564
BHER2TH 30 25 55 XE7TH 307 368 675
BESFE1TH 238 246 484 XE8TH 430 493 923
BEFHRI2TH 161 168 329 XKE9TH 100 102 202
BEFHEISTH 201 220 421 FA{EE6 T B 30 43 73
BEFHEI4TH 129 141 270 /bR 2,797 3,204] 6,001
BESHAISTH 135 139 274 14 |HREFE6TH 266 305 571
LR 46 56 102 HER7TH 299 332 631
/et 2,572] 2,888] 5,460 H{EE8TH 410 479 889
10 |[BXE1TH 77 79 156 ZhEt 975 1,116 2,091
E4£2TH 16 35 51 %15 |#FE1TH 243 263 506
E4£3TH 296 343 639 #HEA2TH 336 373 709
E44TH 134 149 283 $BSTH 138 158 296
EAS5TH 486 611 1097 B4 TH 151 144 295
LR 443 509 952 #$ES5TH 188 221 409
LERE1TH 74 96 170 $B6TH 253 240 493
L1EFRE2TH 270 323 593 #$B7TH 384 356 740
L{RE3TH 407 480 887 Fa{ERE6 T B 350 357 707
L{ER4TH 97 100 197 F{ERE7TH 310 349 659
/gL 2,300 2,725| 5,025 FHIEE8TH 405 483 888
11 |[BEEFH2TH 283 303 586 FEEREOTH 370 426 796
BE4AFHEITH 317 348 665 /gt 3,128]  3,370] 6,498
E4HER1TH 43 54 97 16 |[@m=40 3660 3802] 7462
BEERR2TH 289 333 622 S I 357 365 722
BE4AERITH 79 69 148 /NEE 4,017]  4,167] 8,184
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/hEE 1,340] 1,508 2,848 /bR 1,603]  1,844] 3,447
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BEARRATH 176 194 370 = [EHT 2 1 3
E4E6TH 10 17 27 L#&B1TH 126 143 269
L1ERE5TH 195 246 441 L#%#E2TH 183 231 414
LREE6TH 228 269 497 LEE3TH 124 147 271
LRE7TH 224 253 477 LEEATH 128 153 281
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%19 |L#&RESTH 58 118 176 28 |FEA 79 84 163
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LEESTH 231 272 503 TRE 32 33 65
L#&#E6TH 308 326 634 Al T 55 62 117
L#&BE7TH 117 137 254 == 63 66 129
L#%#%8TH 34 44 78 & 28 39 67
il o 2 3 5 BE 264 293 557
EyiB4TH 70 74 144 /NE 681 744] 1,425
g~ B5TH 200 247 447 %29 |18 839 939 1778
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g~ %7 TH 316] 336 652 ¥31 | ZAK 231 191 422
&~ iE8TH 19 11 30 SEX 145 171 316
E~ 59T H 12 13 25 NE 480 518 998
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o1 |ELHET 1612] 1786 3398 /NET 1,345] 1,419] 2,764
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o4 |(fnmEET 1031] 1144] 2175 %33 [T 88 114 202
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IR E & 38 46 84
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3 L BT 3 [if] 45 44 89
/NEt 379 416 795
#39 EImAE 45 39 84
/e 45 39 84
#40 [EIRTER 90 89 179
/NGt 90 89 179
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/NET 631 658 1,289
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